MATH 54 SUMMER 2017, QUIZ 24

Find a solution to the following initial value problem.
y'+6y +8y =0 y(0)=1 y(0)=-8

AW?IWB equalNon:  rErer+E =0
(r +4)(re2)=o0
Rodl‘S" - ‘+1 = .
e ~2
Gengral  Solutdons j(ﬂ= cie  + (g%
Tritsal Values? . o
1L =ylo)= ¢,&  FC2E = C+C2
~g = 3,(0.) Sl 4'Cne.‘t'0+ (‘261 e‘z‘o) e LI‘C-l ~2¢C,

SDLVQ ‘For C” C'L"

vt RZERzHHRL () 1] RI=RI- R ol 3
['* 'ZLQ] o 7 0 2 l,_

2 Se ¢, =3 . ¢ =3
2C,=-H4 Gk 25
50 o Sol,u fonn 15/
- 2zt
(t)= 3e H_2e
M0 9 ~
Check: 4= — e ¥t g yley= 3¢° .62 3-12]
Y= wge ~ge % y'le)= 1267 YO 2 Lotz

yiCEy+ Gy (€D 8y (1) = H8ert - go2e
t G(‘lle'% + %*‘Lt)
+g( 3o -26)

-0

Date: July 28, 2017.
1



